Efficiency vs P,

+0.05¢
o E

20,045 +--eeeeieeeeees Rt e
> E N H H
80, 04F e e e
[} F . . H

@.0352—------&}-5 ------------ oo s
0] F H N N

I e e
0.025F -+ ? ------------ e e
0.02F -+, IR oreeeneees SRR
o e SRR

0.00 - p-esrieeemeeeees o e
0.005E -+ esieeeseees s R

............................................

..............................................

10 . Gedf’

DIVISTED

Step 3#?3'1

step %‘TT‘ Kk P IL
step3—TT 4

step3_TT_de

Efficiency vs ¢

o0.05¢
0 EE
.045E
o
50.04F
[ E:
£.035F
5] E:
0.03f
0.025F : ; . : . .
X077 SRR R IO I AT SN o MR
0.015 .
0.018 -4 14 i F H’ RO SRR Y A S
0.005 1

Ratio
e

! ;ﬁiﬁ%ﬁﬂ ##*### i+++%ﬂﬁ

5+++J,+¢ i +¢ l++J.. +++++h ¢++++ ++

TP(p



	Contents
	Page 1


